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SE-160 138 172 20 8 208.6 | 192.6 | a=10080) » &K 4 31 18 | 2.3 £ Y
SE-4¥ 120 & g 154 16 8.5 | 189.6 | 163.3 | a=1000 0 H X5 4 33 15 | 2.3 Vil
SE-§¢54 72 120 & g 154 14 8.5 | 189.6 | 163.3 | a=8 DUy xR 4 26 15 ] 23 AHY
SE-1 112.5 114 17.5 | 10.4 | 151.2 | 124.4 7 x 8 KR 4 30 |[15.5] 1.6 b
H-144 112 114 13 10 | 151.2 | 124.5 7 x 11k 7R 4 24 | 155] 1.6 Gl
H-144%47A 112 70,114 13 10 | 151.2 | 124.5 7 < 11K 5% 4 24 |15.5| 1.6 HH
SE-2 97.5 96 13.5 7 132.7 | 110.7 6.6x 13, 6K5H /¢ 4 1253] 11 | 1.6 Y
SE-3 81 86.7 12.3 | 7.8 | 116.2 | 96.2 7 x 14,5k R 4 23 |11.5] 1.6 aH
SE-4(SA-41) 62.5 70 12 6.5 | 100.2 | 86 4.8 %12, 8K < 4 19,2 11 | 1.6 Y
SA-4F %479 55 50 11 8 69 60 4.5% 9, SKH 4 |18.5|11.5| 1.6 L
SA-6F %479 45 435 9 4 66 62.5 5 x 10/ % 3 17 7 1.6 L
SA-6G 38 58 13.5 | 4.8 | 81.3 | 69.8 5 x 1M R 3 24 | 7.5 | 1.6 AHY
SA-4G¥ 472 50 71 21,5 7.5 80 68 a= 6 DYHNER 4 29 13 2 e L
SA-4H(SE-5) 56 60, 2 11.2 6 88.9 | 75.6 4.6 %9, 685 < 4 185 9.5 ] 1.2 HY
SA-4H% 172 60 71 21,5 | 7.5 86 76 a= 6 DWH &K 4 29 13 2 #L
SA-4]¥ 472 70 71 26.5 | 7.5 106 93 a=6DYHNER 4 34 13 2 L
SA-4]% 479 72 72 10.5 7 110.5 93 7 X 1G] 4 | 18,5 |11,5| 1.6 HhH
SA-4K 75 75 9 7 114 100 a= 6 DY D HEA 4 18 12 | 1.6 L
SA-4K% 472 85 71.105 10 8 115 100 | a=6.50L)hH» X% 4 25 15 2 #L
SA-4K¥ 179 80 80 10.5 | 7.5 | 119.5 | 100 7 x 11#HR 4 |18511L5] 1.6 i)
SA-AL 98 110 9 7 134 115 a= 7TOYH 2 ER 4 20 14 | 1.6 L
SA-4L¥ 472 95 71,120 10 8 133 117 | a=6.50E) 0 » X5 4 25 15 2 L
SA-AL¥ 479 93 90 13.5 | 10.5 | 139 | 115.5 7 x 115 4 12350155 1.6 Y
SA-4M 100 60. 110 9 9 153.5 | 132 a=70YYER 4 24 14 | 1.6 L
SA-AMZ 479 110 110 13.5 | 10 158 132 7 X 111K 4 |24,5| 16 2 Vil
SA-4N 120 100,150 | 17.5 7 172 149 8 x 15f511 4% 4 28 12 | 2.3 EL
SA-AN¥ 479 120 100,150 | 17.5 7 176.8 | 149 8 x 15854 4 28 | 9.9 | 2.3 AHY
SB-4M 90 129 12.5 5 149 131 a= 70 H IR 1 25 10 2 L
SB-4N 110 147 12.5 5 167 146 a= 70U NER 4 25 10 2 L
H-135% 1479 81 81 11 6 123.7 | 105 5 % 10411 9% 4 21 11 | 1.6 iy
EI-148 96 128 13.5 | 5.5 148 150 a=70YHHER 4 25 10 2 L
EE-190 140 106.130 | 27.5 9 200 172 10 < 15k517 7 4 40 15 | 2.3 il
SE-200 175 180 20 12 | 233.6 | 290 a=100W Y& |GEL) 30 20 | 2.3 0
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